<C1> GRAPHS OF FUNCTIONS

Answers - Worksheet B

translated 1 unit in positive x-direction

reflected in the x-axis

translated 3 units in negative y-direction

stretched by a factor of - in x-direction

stretched by a factor of £ in y-direction

b
stretched by a factor of 2 in y-direction d
f
h

g reflected in the y-axis stretched by a factor of 2 in x-direction

2 a Ay b y c d »
0,9) (0,3)
0,000 x 0 8,00  «x
ol@ o~ x
3 a y=2x+5+1 = y=2x+6 b y=3(1-4x) = y=3-12x
¢c y=3x+4)+1 = y=3x+13 d y=—(4x-17) = y=T7-4
4 a b VA c VA d y
(0.3) \\/ 0.6) \/ 0.3 0,2
@D, ©,4) (1,4) @2,
o X 0 X
> e e
0 X 0 X
5 a stretch by a factor of 4 in y-direction b translation by 2 units in positive x-direction
¢ reflection in the x-axis d translation by 5 units in positive y-direction
6 a y=2(x"+2) b y=(x*+2)-7
stretch by a factor of 2 in y-direction translation by 7 units in negative y-direction
¢ y=(ix?+2 d y=(x+27+2

stretch by a factor of 3 in x-direction translation by 2 units in negative x-direction

7 a y=@x-17+2x-1) = y=x"-1
b y=0x)’-40Gx)+5 =  y=9%—12x+5
¢ y=(=x)+(=x)—-6 = y=x-x-6
d y=2(%x)2—3(%x) = y= %xz— 3x
8 a f(x)=(x—2)"—4 .. turning point (2, —4)
b i A ) ii Y A iii Y A
y=3+H(x) y=1(2x)
/y=f(X) y=1x) \ / /y=f(x—2) / /y=f(X)
(2,-1) g . .
o\~ X 0 x 0 X
2,-4) 2,-4) 4,4 1,-4) 2,4
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Y A b Yy A
y= X +4 /
y=(+3)y y=a 4 Jy=x
: e
-3 o ;
y A d y A
. k ye
0 y=+lx
]
\ 0 x
let fx) = -+ . = = 1f(x) or f(3x)
X 3x
stretch by a factor of 1 in y-direction
or stretch by a factor of 1 in x-direction
let g(x) = x> .. 4x> =4g(x) or g(2x)
stretch by a factor of 4 in y-direction
or stretch by a factor of J in x-direction
y A b y A
(4, 0/ -2, 0)\(1 Lo x o/ «©,0) W(s, 0
(Os _8)
v A d y A
A oo
(-1,0) y(z, 0) X@ 0 x (-2, 0)/ XD. 1,0
0,-8) (0, -8)
(a, 3b) b (a,b+4) ¢ (a—-1,b) d (3a,b)
Y b VA
0, n "
(0, 3) R
(-4,0) O X
(=2,0) R
0 x



